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(b) Fmd the equatlon of the plane tangent to the graph of

169)=52) a 3)-02) -+ 0

6. Ll(is%jﬁ&ﬁ}ﬁ- -(1—;2,14_7) £ x’_0_=t & {Eﬂﬁi(x-—xq)a?ﬁ o (10%)
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7. Find the length of the curve y=+1-x* forxin [-1, 1]. (10%)

- 8. Fmd the center of mass of the hemlspherlcal reglon W def ned by the

1nequaht1es x*+y*+22 <1, 220, (Assume constant density). (10%)

9. Let Cbe the bdundary of the rectangle with sides x=1, y=2, x=3, and
| y'=13'. Evaluate the integral -[_(xyz — y3)dx+' (—sz + y3)a§) in

counterclockwise sense. (10%) -

10. (a) Ism————sinf-?-dx 7 (m, n%%iﬁ;) (5%)

. (b) '].e"'zdx =7 (5%)




